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* xProblem 2.25 Check the uncertainty principle for the wave function in
Equation 2.129. Hint: Calculating (p?) is tricky, because the derivative of ¥ has
a step discontinuity at x = (. Use the result in Problem 2.24(b). Partial answer:

(p?) = (ma/h)>.

30 CHAPTER 2. THE TIME-INDEPENDENT SCHRODINGER EQUATION

Problem 2.25
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(z) = 0 (odd integrand).
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In the last step I used the fact that §(—z) = &(z) (Eq. 2.142), f(z)d(z) = f(0)é(z) (Eq. 2.112), and 0(—z) +
0(z) =1 (Eq. 2.143). Since dyp/dx is an odd function, (p) = 0.
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Evidently
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